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What reading is shown on the diagram?

A 1625¢m’
B 1620cm
C 1629cm
D 1775cm
2 An ion of an element X is represented as follows.

W'Y

X

Z

Which statement about X is true?

A Y is the nucleon number.
B Z is the atomic number.
C W is the proton number.
D W is the charge on the ion.
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3, The diagram shows the structure of a neutral atom of an element.

neutral atom

How many protons does the atom have ?

6
B 7
C 13
D 12

MATHS GUARDIOLA +447852954215



4,

‘A

4

The di
1€ diagram show e ’ | f
2 hows the atomic structure of a neutral atom of an element z

b
¥ electron of 7

nuc leus

To which group of the periodic table does element Z belong ?

A 2
B 5
£ &
D 3

Which row correctly describes the states of the substances at room temperature and

pressure’

[ solid liquid gas

A mercury carbon dioxide napthalene

—B | —Nercury napthalene carbon dioxide
—C | napthalene mercury carbon dioxide
D | Carbon dioxide napthalene mercury

i _—
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Which pr
ope m
perty shows that calcium is not a transition element?

A It
$ compounds are soluble in water.

B It
$ compounds are coloured in solution.

C Tts compounds are white when solid.

D It has a very high density.

The di i
iagram shows a fractional distillation plant for distilling crude oil.

T2 petrol (gasoline)
T

5- naphtha

WPT =<1 kerosene (paraffin)
P12 diesel

T fubricating oil

\ f
furnace for heating petroleum
i 2 - tAlt - 2

st Ltk —
e fet ™ [er =% pitumen ‘

as compounds with the highest boiling point range ?

Which fraction h
A petroleum gas
B kerosene

C bitumen

p lubricating oil

MATHS GUARDIOLA +447852954215
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8.

6

The diagram shows a simple cell.

€ 4

metal X

1t

ll! i

H

- - - -
— -

Which combination of metals would allow el

X 4
A copper lead
B iron zinc
C lead iron
D zinc iron

MATHS GUARDIOLA +447852954215

metal Y

diluted sulphuric
aci

ectrons to flow in the direction shown?



The diagram show

S re ; : . , 4
X and heated sults obtained when aqueous sodium hydroxide was added to solution

L |

damp red litmus
paper turns blue

mixture of solution X
+ sodium hydroxide

heat

Which ion was present in solution X ?

A NO,
B SO,
C NH,
2+
D Pb

MATHS GUARDIOLA +447852954215
4024/1 J2024 e &



10.

11.

12.

The equation shows the dissolution of ammonjum chloride.

NHCI,  + (aq) — NHdk(aq) + Gk

aq)
Which diagram A, B, C or D shows the energy profile for the dissolution?

A energy

A energy
- T - gy

/ ‘\
yroducts
reactants reac(any R

:I:prgduu\.

L. N
s . —> e T ———————
Direction of reaction Direction of reaction
C. ener
ABY D. cnf:gy
reactants products reactants

4, products

5

. “ - . i . . . >
Direction of reaction Direction of reaction

Which pair of ions causes hardness in water ?
A Ca'andzn”

B Ca2+ and Mg;2+
C Mg2+ and Na'
D

24 2+
Mg and Zn

Which statement is true about the electrolysis of dilute sulphuric acid ?
A amount of sulphuric acid remains unchanged
B sulphate ions are discharged at the anode

hydroxide ions are discharged at the cathode

t
\

hydroxide ions remain in the electrolyte

=)
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13.

14.

15.

16.

Which option gjve
gives the correct catalyst for the given process ”

process

K catalyst

' hydrogenation platinum
ost ( |

; wald vanadium (v) oxide
céntact nickel

D haber iron

Which is not a use of carbon dioxide gas ?
A refridgerant

B extinguishing fire

C asapreservative in fizzy drinks

D

as a fuel in welding

Which property of lime makes it useful in agriculture?
A has high melting point

B s slightly soluble in water

C is basic in nature

D conducts electricity in molten state

Which one is not a product of destructive distillation of coal ?

A coke

B coal gas

C ammonia liquor
D carbon dioxide

4024/1 12024
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17.

18.

19,

The table shows some physical properties of elements W, X, Y and Z.

10

element electrical conductivity heat conductivity lusture
W none none dull
X good in solid and liquid state good shiny
4 conducts in solid none dull
Z none none shiny

Which element W, X, Y or Z is metallic 9

A

B
C
D

V4

Y
X
W

Which reaction is a redox reaction ?

A

B
C
D

CuCQOy, — CuQy + CO;y

HCluy + NaOHuy=* NaCla, . H0,)

AgNO;swy + NaClu, — AgCl,, + NaNO;,,

FQJOJ/,) + 3C0(g) “*ZFe,,) + 3C03(g}

Which are the correct products of the reaction between magnesium and steam ?

MgH, + Oy,

A

B

Mg (OH)Q(

+ Oz(y)

aq)

My (OH)Q(Q,,, + H2(.q)

MQO(g) <+ Hz(g)

MATHS GUARDIOLA +447852954215




20.

21.

Which catalyst

A

B
C
D

is used . ¢
ed in the réaction of ethene with steam to produce ethanol ?

sulphuric aciq
Phosphoric (v) acig
ethanoic aciq

aluminium oxijde

An ester has the chemical formuyla:
CH;COOCH,CH,

Which compounds react to produce the ester ?

A

B
C
D

CH;COOH and CH;0H
CH;CH;COOH and CH;CH,0H
CH;COOH and CH;CH,OH
CH;CH,COOH and CH;OH

MATHS GUARDIOLA +447852954215



22. Which graph shows the correct trend in melting points of Group (VII) elements?

melting point "C melting point '€

A 7T 5\
\ | \\
proton proton
number number
melting point °C melting point "C

C e p M
proton proton
number number

3 A volume of 25 cm of 0.20 moldm hydrochloric acid was neutralised by 50 cm’ of 0.10
moldm  sodium hydroxide. The temperature increased by 14 °(’. The energy change for

the reaction was 4 410 J.

The enthalpy change of neutralisation was
A 882.000 kJmol 1

B 196.000 kJmol —1.

C 14.700 kJmol.
D

4.410kJmol —1.
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26.

27.

Ethanol is produced b
of yeast because yeast

A
B
C

D

13

. s
y fermentation of glucose at a temperature of 37 C inthe

cells pro ;
produce too much carbon dioxide at lower temperatures

cells >
Is produce too much ethanol at lower temperatures.

enzymes are denatured at higher temperatures.

enzymes are denatured at lower temperatures.

Which reaction can be used as a test for alkenes?

A

C}_H4 + I—I2 Ni C2H6

CH, +

60°C
H,0 conc.H3 POy C,H;
—_—
300 °C

C Z+H4 -+ Brz — C2H4Br2

CH, +

Brz s C2H4BI2

Which reaction is not an acid-base reaction?

A

B
C
D

ZnC03(s)+stO4(aq)__> ZHSO4(aq)+C02(g)+HzO(1)

Pb(NOg,)Zaq + HzSOa(aq)__> PbSO‘Ks) s 2HNO3(aq)

CuOy + H,SO04eg CuSOuaq + H200

2KOH + H:SOug " K2SOuan + 2H:00

The equation shows the decomposition of calcium carbonate.

20 g of CaCOx

The volume of

A

3
5,60 dm .
3
0.96 dm .
4.80 dm .

9.60 dm .

CaCO3(s)—__>C30(S)+C02(g)

, was heated until no more change was observed.

arbon oxide gas produced at r.t.p was

4024/1 12024
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28.

29.

30.

31.

Which type of waste is biodegradable?

(—~ B - - B

plastic
rubber
paper

glass

Why is chlorine added to water which has been filtered by a sand filter?

w

v 0

Recycling, composting and source reduction are desi

A

B
C
D

Which statement is true about a system in dyn

A

The sand filter kills some but not all the bacteria.
Sand filter only removes solid particles but bacteria can pass through.
Chlorine increases the pH of the water

Chlorine is a good coagulant.
gned to

measure the amount of waste entering land refills.
increase the amount of waste entering land refills.
maintain the amount of waste entering land refills.

minimise the amount of waste entering land refills.
amic equilibrium?

The concentration of reactants is equal t

The concentration of products is now more than that of reactants.

The speed of
reaction.

The speed of the forward reaction is more than that of the backward reaction.

MATHS GUARDIOLA +447852954215

o the concentration of products.

the forward reaction is equal to the speed of the backward



15

Which factor doeg not

and aqueous hydroch] affect the speed o

: f the reactin B enrmaes § il ¢ 1 h d;()x'i(.ll:
oric acid 9 he reaction between aqueous sodium hy

A pressure

B temperature
C concentration
D stirring

The chemical equation shows the formation of hydrogen iodide from hydrogen and iodine.
H2(x) Ll Y = 2HI,

What is the effect of increasing pressure on the yield of hydrogen iodide?
A more hydrogen iodide is formed

B less hydrogen iodide is formed

C no effect on the yield of hydrogen iodide

D

more hydrogen iodide decomposes

MATHS GUARDIOLA +447852954215



34.

35.

Which is the correct structure for 2, 2-dimethylbutane?

A
H CH: H H H
o |
H—C—C—C—C—H ,
I |
H CH; H H H
C
H H H H
.
H—C—C~—C—C—H H—
o
H CH; H CH;

e

v
0 — Q)T
o — ()— L

The name of the organic compound shown is

A propanal
B propanone
C propane
D propanol

MATHS GUARDIOLA +447852954215
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' 17
3. Whichstructure is a polymer of 0y op
H.CHCp

A
i M (‘/BH
= I
Lol 11
C D
H H CI/
Ly
|| | | /n
Cl C/ n Cl H

37. Zinc metal reacts with a solution of copper (1I) sulphate according to the equation

Zn(sy + CuSO4y(aq) —> ZnSOs(aq) + Ch(s)
The following are all observations made except
A grey metal disappears.
blue colour fades.

B
C Dbubbles of gas.
D pink solid formed.

38. A 27 g sample of X burns in chlorine to produce 133.5 g of the chloride.

What is the empirical formula of the chloride given that A, of X is 277
A XCh

B XCi;

C XCh

D XCl,
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39.

40.

e & 2
Which exhaust gas is not converted to another substance by 2 catalytic converter :

A nitrogen dioxide
B carbon dioxide

C hydrocarbons
D

carbon monoxide

Which one is an advantage of using herbs?

A lack of dosage instructions

B lack of regulation

C effective with chronic conditions
D

inappropriate for many conditions

MATHS GUARDIOLA +447852954215



The volume of

one mole of any gas is 28 dm? at room temperature and pressure (rt.p.)

R et e <
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